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_,[_ DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO bO SO

Question Booklet Series Code : A

Time Allowed: 01.30 hours
38150 QA4 : GoR.Moffq

JC-2015

Question Book Sl. No. MAT :

135485

Maximum Mark: 160
QSRR AIF : koo

Read the following instructions carefully before you begin to answer the questions. This Booklet contains
100 objective type questions with multiple choice answers on Mathematics both in English and Odia
language. In case of discrepancy in meaning, the English version will prevail.

ga9eea Qaa @G9Igea G4 9oa F646Ieq! JaALRIER IR | 1T J3QI6a G FALER TR QR YD
1005 89 04 99 S°aIF1 6 652 QISIEa F2IAIRAIT | A26QRIEH A8 QIR ZBR KUAIR QIS IRAQ

QgQ |

INSTRUCTIONS FOR CANDIDATES

glel/giie FIRS IR 362411

-

_This Booklet contains in all 100 objectivequestions with multiple
choice answer on Mathematics.

3]

. All questions are compulsory and carry one mark cach.

e

Before answering any question, checkup this Booklet and ensure
that it contains 15 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediatelys

o

The Invigilator shall supply you the bank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point penonly. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

wn

. A machine will read the coded information furnished by you in
the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark

(=23

. These instructions must be complied with fully failing which your
Answer.Sheet will not be evaluated and Zero mark will be
awarded,

=3

_ Answer must bé given by completely blackening one of the four
circlesfovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

oo

. Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action

O

. Read carefully the instructions of answering each question before
answering it.

10.Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
1ime on any guestion.

11.No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.

12.You must not carry into the examination hall/ room any book,
mobile phones or electronic devices printed/handwritten papers
except the Admission Letter. \
Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.

o

o
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If the addition of two whole numbers is 64, which of the following ratios is not applicable to
them? :

A) D By il €)' 3:4 D)y -9:7
9% QEraIR 6QANTTR 64 626R, F6YID 699 AFAICE ARG AN YIS G622
A). 353 B 4 : Gy 354 D&Y :7

What shall be the percentage of discount if the marked price of an article is Rs.300 and the sale
price Rs.270?

A) 5 B) 8 & 10 D) 12

661G~ FRIEIR AYS Y 300 GF1 6 T MY 270 S 626R HORGI QLIS 6R6C ?

A) 5 B) 8 €y 1o D) 12

What is the difference between 17% of 120 and 8% of 108?

A) 10.66 B) 10.76 Q) 11 D) 11.66

120 @ 17% G 108 @ 8% F1IER ASQ 6@66”? ;

A) 10.66 " By 16.16 C) 1176 D) 11.66
(3% 08 T

A) 123.21 B) 12321 C) 1.2321 D) 12341

(AT e 696G 627 |

A) 123.21 B) 12321 C) 12321 D) 12341

The cost of carpeting a room of 18m long with a carpetiof 75 em wide at 45 paisa per meter
comes to Rs.81. What is the breadth of the room? :

A) 7m B) 7.5m C) 8m D) 85m

6915 18 g 6344a Aaq 75 624 ficq J9 ] @I1R6AY 60 FBIRG! AR AGQ g6 45
JQQl @AIR6Q 81 Ol S1% P91 606Q L U 4 86T ?

A). Tm B l.am C) 8m D) 85m
V12 x Y45 x V15 = ?

A) 90 B) 92 C) 90V3 D) 90V5
V12 x V45 x V15 = ?

A) 90 B) 92 C) 90v3 D) 90V5
What is the ratio between 0.01 and 0.001?

A) 1:10 B) 1:100 C) 100:1 D) 10:1

0.01 9Q° 0.001 @ AQAIS 6R6G? '

A) 1:10 B) 1:100 C) 100:1 D) 10:1

The population of a village is 8000. What will be its population after 3 years, if it increases at

the rate of 10% every year?

A) 10618 B) 10628 C) 10648 D) 10678

6QIGN QIR ERIS A°HYI 8000 | AT KR LYl GGad 10% 21969 Q& AN, 3 Qd Q6Q 692
FIFIQ 6RIF A°TMI 6RES 629 |

A) 10618 B) 10628 C) 10648 D) 10678
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Some principal amount is doubled in 20 years at simple interest. What is the rate of interest per
annum?

A) 5% B) 8% C) 10% D) 12%
6@1EQ IRIRUR AR QUUER 20 RUEA TYFE Y9, 6962 QTR PR TIQ 6R6G ?
A) 5% B) 8% C) 10% D) 12%
The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?

A) 36 B) 48 C) 60 D) 120
QQG AR QEITR 216 NQ° LIRS G.AI.Y. 6 6R6M, AGH TAQ N.QALYG. 6R6G?
A) 36 B) 48 C) 60 D)» 120
What times of H.C.F is the L.C.M of 48, 36, 72 & 24?

A) 6 By EZ C) 18 ; D) 24
48,36, 72 4Q° 24 Q M.4LG. ARG 6.4LY. Q 6RES G817

A) 6 . B Y12 C) 18 D) 24

A student was asked to divide certain number by 3. But instead of dividing the number by 3 he
multiplied it by 3 and got 29.7 what is that number?

A) 3.3 B) 9.1 @ 9.8 ' ) 8.9

weel Iy I QQQ Q]"%H@ 3 QA QIR AR Qeiciml | G-?@_ 21Q @ Q“ﬁqlgﬁi 3' 9l
QUG RAR! AIER '3’ FIQU Gié] 29.7 IR | 6562 6L AT 69667

A) 3.3 B) 9.3 C) 938 D) 9.9

The sum of two numbers is 24 and their product is 143. Find out the greater number?

A) 11 B) 12 C) 13 D) 15

QG A°HIQ CAFATR 24 NQ° 6ANNRE FETR143 1 6969 9B AT 62667

A) 11 By L2 €) 13 D) 15

The ratio_of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the
second number?

A) 12 B) 14 ' Q15 ‘DY 18

GG QIR AQUL 5:4 | UG e AHIQ 40 IR 12 94, 6069 @013 QA°GMIRN 50%
660 6L99?

A) 12 e ©) 15 D) 18

The average age of 16 persons is 28 years and 3 months. 2 persons left the group at the age of
58 years each. What is average age of the rest members?

A) 20 B) 24 )08 D) 30

16 K6 NPQ AL A 28 @F 3 AIF | QARE QYT J6oYR 58 Q¥ Quasa QR
SIPOINCIEN | USHL NBFA LIAULIA TAA 69662

A) 20 B) 24 C) 78 D) 30

Rs.540 is earned as simple interest on certain amount at 5% interest in 3 years. What will be the
compound interest if the same amount is invested at the same interest rate for the same period?
A) Rs.567.45 B) Rs.547.45 C) Rs.467.45 D) Rs.417.45

5% Q1064 3 9F6R 6RIEIT GMIFR AQR Yol 540 T T4 1 AAIR Q! ARG AAUR AANER
62R RUAR OFE QI 6@6% 6297

A) Rs.567.45 B) Rs.547.45 C) Rs.467.45 D) Rs.417.45

> ¥ g3
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What will be the percentage of profit if 3 lemons are bought at Rs.2 and 2 lemons are sold for
Rs.3?

A) 25% B) 50% C) 100% D) 125%
2 6QI6Q 3 & 6mY 8 3 GFI6Q 2 § 6Ll 6R¢] IF REA, IGRG! 6RES NN 6297
A) 25% B) 50% C) 100% D) 125%

If a number is divided by 36, the remainder is 21. What will be remainder if that number is
divided by 12?

)T B) 8 < S D) 9

@ Q°Gliig 36 Gl QUTRER RIGEIT 21 @, 6Q% QB 12 QI QUG @M WIGIEIS 6R6L
6¥Q?

A) 9 B) 8 % S D}y 9

If the base of a triangle is increased by 10% and its height decreased by 10%, what percentage
will be the area of the new triangle with that of the original one?

A) 80% B) 120% C)87% D) 99%

605N Q% RAQ 9R@1 10 LIREA G AFEIR I8REG! 10 AAIRER 602 GRNT 629 VILIR
EAQTR ¢ GREQ 6AYTRNR IR CREG PGl 69Q7

A) 80% B) 120% C€) 87% D) 99%

By what smallest number shall 2744 be multiplied to make the product a cubic number?
A) 1 PR 4k e D) 4

2744 @ 6QQ JQor A°GlYl IRl GEIR @EM GEITR @ LR LGl 62S?

A) 1 B) 2 5 D) 4

0.02 is what percentage of 0.08?

A) 2.3 B)...1.5 C) J D) 4

0.02, 0.08 Q 9@l 6X6C7

A) 2.5 Pl ® o D) 4

The simple interest of some principal is its 16/25. If the rate of interest and the time are same
what is the rate of interest?

By 5 B) 8 £ 7 D) 4

cAlad 9@ PRI Q@ G (IMUAQ 16/25 2%l 198 QOO PRI VIQ B AAG AR 99,
606Q QU 9IQ 6@6 ?

A) 5 B) 8 6 Sl D) 4

7 years ago the age of Ajay and Bijay was in the ratio of 4:5. After 7 years the ratio of their age
will be 5:6. What is present age of Bijay?

A) 56 years B) 63 years C) 70 years D) 77 years

7 @d Q66 UG 8 AR0Q QAR AGAIG 4:5 YA INAAIROIQ 7 QUUCQ 6T IUAQ
QUG 5 :6 62Q | 6C6Q QWU QAR QLY E@EC 7

A) 5699 B) 63@d C) 7099 D) 77 <9
Find out the sum of V75 + V108 + 192 = s :
A) 193 B) 217 C) V375 D) 32
V75 + V108 + V192 Q 6QIIGI TR 6R6S = ?

A) 1943 B) 21V7 C) V375 D) 32
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25. Find out the 5 digit smallest number divisible by 417 v
A) 10045 B) 10004 C) 10041 D) 10025
QBT SR 69Q YO A 41 TIQ FRIRY?
A) 10045 B) 10004 C) 10041 D) 10025
26. The L.C.M of 35 & 30 is how many times their H.C.F?
A) 40 B) 41 C) 45 D)  None of these
35630 @. dl. 9. YIS Cl. dl. §. Q@ 6Q6Q G&I?
A) 40 B) 41 C) 45 - D) 6l€IdE Qe
27. 25% of which number is 19 less than 18% of 6507 .
A) 450 B) 500 C) 392 . D) 400
62 IR 25%, 650 Q 18% OIQ 19 @412
A) 450 B 500 ) 392 D) 400
28. Ifthe purchase price of 15 articles is equal to the sale price of the 10 articles, what is percentage
of profit? ‘
A) 25% B) 60% Q) 40% D) 50%
15C GT8Q QUMY 8 10 G FRIQ SRR AFIR 626R, I0RC MK 6R6S?
A) 25% B) 60% C) 40% D) 50%
29. Find out the percentage of discountthat has to be given once instead of giving serial discounts
at the rate of 20%, 10% and 15% on an article,?
A) 36.1% .B) 38.8% YN 315670 D) 38.2%
6OITN TR QUEQ FAIQAEA 20%, 10% B 15% IE 6@Ql IQALER 26Q RIQ 6Q6R, VI
JORC| Q60 Bl AR LA 6997
A) 36.1% B) 38.8% C) 316% D) 382%
30. A man takes 5days to make 120 toys. How many toys can he make in 12 days?
A) 60 B) 288 C) 600 D) 1440
F6¢1 Q18T 120 G @6a@ GRIG @AQIg 5 I8 AT MIET 1 Q4B FAR 12 IR 6R6SIT
@6elm SUQA PAUIQER?
A) 60 B) 288 C) 600 D) 1440
31. Which of the following numbers is divisible by 111?
Aozl B) 1331 56 e §15 5 D) 123421
P69 62Q LIS 111 FII FRURY |
Ay 1221 B} 1331 Gy 12321 D) 123421
32. What is the cube of 1.3?
A) 02197 B) 21.97 C) 20.97 By 2.197
1.3 @ Q90 60667 '
A) 0.2197 B) 21.97 C) 20.97 BRI o [fev i )
33. The present height of a tree is 64cm. Every year it grows by 1/8" of its height. What will be the
height of the tree after two years from now?
A) 76 cm B) 80cm C) 8lcm D) 84 cm
6513@\'1 Q2R @égls? Q@0 64 A.4. 1 987 gF ¥ T QRIQ 1/8 2r8 Q6Q 6069
QAIFOIQ YRV UEQ TN ARG 6R6% 6997
A) 766Q.8. B) 806Q.9. C) 8169.4. - D) - 84 6Q.61.
AC-MAT-2N15 (R
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In how many years Rs.5400 will grow into Rs.6773.75 if saved in a bank at the interest rate of
12% per annum?

A) 2 years B) 3 years i C) 4 years D) 5 years

JORC! 12 S@l QI FIQER 5400 Gl 6QITNY QUITEQ QEM ERER QT6eq QIR aew °qe&
QI 6773.75 Sl 629 ?

A) 2 years B) 3 years C) 4years - D) S years

Which of the following numbers shall be added to both the parts of 3:5 to make the ratio of the
additions 5:6?

A) 6 B 4 W D) 13
F6QIB 69R QAN 3: 5 Q QUG AER 6LITIREM CLINTRR AFAIS 5:°6 629 ?
A) 6 B) 7 Crld 15 .a(l3
What is the sum of the odd numbers between 1 & 317

A) 260 B) 256 ¢ 258 D) 248

1 Q31 ISR GG Gl AR 6TTIRENCE?

A) 260 B) 256 CrgR252 D) 248

Three cubes of iron whose sides are 6 cm, 8em, and 10cm respectively are melted and formed
in to a single cube. The side of the new cube formed will be:

A) 12 cm B) 14 cm C) 16 cm D) 18 cm

6 6281, 8 6Q.8. 3710 6@. &. QTR P6AIT 6ML FTe ANYAY GO IR GO
AAAREQ QIS QBR, FOR AAVFA QLA 6T 6R6E 62Q?

A) 12 cm B) 14 cm C) 16 cm D) 18 cm
Find out the LCM of 3 @%b, 4ab>& 6 ab.

A) 12 a*b? Bi. 1248 C) AR a b7 D) 12ab
3a’h, 4ab’&6ab M. A. Qo 69607

A) 12ma?b? B) 12a2b Oyl 2a b2 D) 12ab

What is the rate of interest if a sum of Rs.4,000/- becomes Rs.5000/- in 5 years on simple
interest?

A 10% B) 8% ) 5% D) 4%
AQR QI AREQ 4000 S 5 AT6Q 5000 TF 6L6R, YU LIQ 6RES ?
A) 10% B) 8% C 5% D) 4%

After 4 years the principal amount of Rs.12,500 grows into Rs.15,500. Find out the rate of
interest? '

A) 3% B) 5% C) 4% D) 6%
4 QE6Q 12,500 GRIQ UG 15,500 GFI6Q 9RES 991 QTR AR QIR LA 6Q6G?
A) 3% B) 5% C) 4% D) 6%

A milk vendor buys milk at Rs.4 per litre and adds 25% water to it. It he sells the adulterated
milk at Rs.5 per litre, what is the percent of his profit? '

A) 56.25 By BS0.25 ) 5525 D) None of these

Q64 DA QAN REQ 9P 6.4 2A6Q VIQ @& 6Q2Y6Q 25% AIE TSN 19G 6Q QIETSI
19 MO GG 6.5 969 TGNET, GIA FICRG| MY 6R6T 6297

A) 56.25 B) 50.25 C) 55.25 D) 6996 @ Q6w
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7% expressed in decimal is?

A) 07 B) 0.07 C) 0.007 D) 0.0007
7% | QIR A°HIICQ IR REM CRES 6297
A) 03 B) 0.07 C) 0.007 D) 0.0007

The length of a rectangle is increased by 60%. By what percent would the width have to be
decreased to maintain the same area?

A) 37% - B) 60% O 75% D) 37.5%

€GN 2I0R6AQ G@Ei‘l AR @9 ‘Q@ QRSN | 666 YLIQ J9q JORE| 6R6C QAN
EAYTRA 6Q161T JARRR 689 Q1L 2

A) 37% . B) 60% C) 75% D) 37.5%
Find out the LCM of a? 4+ ab &ab —bi.

A) ab(a+b)a-b) C) b(a+b)a+b)

B) a(a-b)a-b) D) ab (a-b)@+b)

a’ + ab &ab — b%Q M. Alo G- 696G ?

A) ab(at+b)a-b) C) b(a+b)a+b)

B) a(a-b)a-b) D) ab(a-b)a+Db)

The population of a town is 300000. If the birth rate is 5% and the death rate 3%, what will be
the population of that town after 2 years?
A) 321120 B) 311220 C) 312120 D) 322110

6QlIEN ATQR 6RIR A1 3000001 A& FRLIR 5% G FILIN 3% 6NN, 6569 2 9T AR
6Q2 AL EMIP AEHY 6960 629 ?

A) 321120 B) 311220 C) 312180 D) 322110
What will be the'single rebate of two continuous rebates of 20% and 15%? _
A) 22% B) 42% C). 32% D) None of these
QRE FAICIS AAIG 20% B 15% Q 69T QLT 6@60 62?7

A) 22% B) 42% C) 32% D) 6Q960@ Q6%

The ratio of Milk and Water in a Mixture of 729 litres is 7:2. How much water shall be added to
the mixture to make the ratio of Milk and Water 7:3?
A) 99 liters B) 81 liters ). libers D) 79 liters

729 QEQ @ Age F196Q QA B QA AQUIR 7: 2 | 606Q QB AR A0 FAEQ 6Q6Q
AACEIQ 8% FIRem VR G RN AQAIS 7:3 627

A) 9@ B) 81@ c) 2@ D) 79&
Find out the number in sixth place of the sequence: 2,6, 11, 17,24, .... ?

A) 26 B) 30 e A D) 36
2,6, 11,17, 24,...7 4@ 2IQGFI6Q VW AT 69697 |

A) 26 - B) 30 5 e . D) 36
The diameter of a circular wheel is 168 cm. How far will it travel in 100 revolutions?
A) 528m B) 520m C) 460m D) 440m
6915 QRRIA ORQ QI 168 64F1 | 100 2 AR ILACRES QIS LUTGA 90Q?
A) 528m B) 520m C)460m - D) 440m
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Which of the following numbers has the highest number of factors?

A) 99 B) 101 £) 176 D) 182

3¢ YO 6aR LI AR FIMAD 2G?

A) 99 B) 101 C) 176 D) 182

3/-1728 x 15625 = ?

A) -180 : B) -240 C) -280 D) -300
3,/-1728 x 15625 = ?

A) -180 B) -240 C) -280 D) -300
What will be simple interest of Rs.1200/- at 4.5% per annum in 5 years?

A) 140 B) 207 C) 204 D) 270
QIER 4.5% LANER 1200 TFIQS5 ATER AR ol 6@EQ ?

A) 140 B) 207 C) 204 D) 270

What shall be the percentage of profit if @ shopkeeper sells 2 lemons at the cost.price of 5
lemons?

A)- 100% . B) 125% C) 150% D) 130%
@661 61 5 T 6RAFQ @l GA6Q 2 § 6ALY IGAEM VIR F0RC! AN 6R6C 6262
A) 100% B) 125% C) 150% D) 130%

If A: B=3:4, B: C=5:6 andi€:. D =119, A: D= ? ;

A) 50:60 B) 55:72 C) 60:70 D) 65:75
Q@A B=3:4, B:C= 5:6 49°C:D= 11:9 §4,A:D =......6@66"?

A) 50:60 B) 55:72 C) 60: 70 D) 65:75

7 members of a family live for 36 days at Rs.840/-. How many days can 9 members of that
family live at Rs.810/-?

A) 24 days » B) 27days C) 30days D) 36 days

6QIT DRARNAR 7 RE B 840 TFIER 36 TR PRANE | 69T VA 9 K Y& 810
CFIEREREE. AR Of AIGER 2

A). 2459 B) 27Gq C) 30Q@ ‘D) 36Q@%

The H.C.F of 2 numbers is 3 and the L.C.M is 60. If one number is 12 what is the other
number?

A) 5 B) 15 5438 D) 36
QPG A°HYIQ 6.Q1.G. 3, MALG. 60 1 6615 Q°HYI 12 6QEM AY AT 6R65?
A) 5 B) 15 C) 18 D) 36
What shall be the cube root of the number obtained when 5488 is divided by 27

A) 12 B) 13 C) 14 D) 18
5488 @ 2 9IQ LQE KER 64Q A°Hl QYR6LR GILIQ AR ERER?

A) 12 B) 13 C) 14 D) 18

The average of 5 numbers is 15.8. If the average of the first 3 numbers is 13 and the average of
the last 3 numbers is 19, what is the 3" number?

A) 15 TR | : B S D) 18

56 AHYIQ LIQULIR 15.8 1 gem GERIG A°HIQ IR 13 NQ° 66 FERIT A°GUIQ QLA
19 626Mm, 1A LHYIT 6R6L?

A) 15 B) 16 e PR D) 18
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What will be percentage of profit if a pen is bought at Rs.20/- and sold at Rs.25/-? =

A) 16 B) 20 28 D) 30
6QIG @RFI 20 SFIER @El 25 CFIER TFEM ICAL! 6REC MW 629 ?

A) 16 B) 20 £y 28 D) 30

If A:B = 3:4 and B:C = 8:9, what is A:B:C? -

A) 8:6:9 B) 6:8:9 C) 9:8:6 D). 3:32:9
QG A:B=3:48B: C=8:9 99, 606@ A: B: C 6@6G?

A} 8:6:9 B) 6:8:9 S e A D)2 : 9

How many poles will be required to fix them at an interval of Smeters in a road of 100 meter
length? '

A) 20 B) 19 ). 21 (B 1.

100 §. R¢] NS QAULIEA 5 FE9 QIQUIFEA 4 6dIRRI TIN 6R6TIT Y& 2R 6292

A) 20 B) 19 ) Sl Dy 22

If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is:

A) 4:25 B) 254 € 1258 D) 8:125

QG 2 § 60IRQQ JACRR AQUIE 4:25 94, 6AAUFA AUXCTQ UG 6R6G?

A) 425 B) 25:4%4 Cy 4258 ol D) 8:125

What shall be added to each'of 6, 12, 16 & 18 to make the H.C.F of the additions 1?

A) 4 B) 3 )~ 2 B3

6,12, 16 B 18 Q EGURERQ 6R60 CRITRER SACITR ‘E;]_@G?Q ol Ql. 91 69Q?

A) 4 _ B) 3 53 D) 1

The minimum mark to pass an examination is 33% of the total marks. A-student secured 220
marks and failed by 11 marks. What was the total marks of'the examination?

A) 800 B) 700 C) 900 D) 600

66101 FIO1RAIE6R DI @RR! digl AR0C] FEQ 6T AR 33% | K68 |IG 220 FARX A 11
ACQ DIN 6TR 626M | ANVIER 671G AR 6RE6S M2

A) 800 B) 700 C) 900 D) 600
4 Q612,500 SFIQ R 15,500 TFIEQ ARAGS §4 1 QITR AQR YA AR 6@66?
A) 40 Years B) 35 Years C) 30 Years D) 20 Years
6R60 @F6Q 5% AAR QMR 6T IR RE G9EIe 629 2

A) 40Q9 B) 35Qd C) 3099 D) 20 Q9

A table was sold at S%'proﬁt. Find out the ratio of cost price and sale price of the table?
A) 1:5 B) 20:21 ' 21530 D)y 513
691G 659R G 5% NVEA TG FATR! 1696 G4 FAY B IFY ANIA AQAIG 6R6S?
AY 13 B) 20:21 C) 21:20 511

The H.C.F and L.C.M of two numbers are 12 & 72 respectively. If the sum of the two numbers

. is 60, what is the smaller of the two numbers?

A). 12 B) 24 C) 60 : 0y 72

GRC LI G. Q. g. B N QAl. . YAYEF 12 B 72 1 T A QREQ 6AITNTR 60 9,
6069 6 A°GHil QRT AU AIQ A°SMIT 6REE?

A) 12 B) 24 C) 60 D) 72
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What is the average of the first ten multiples of 3?

A) 15 B) 16.5 C) 183 D) 30
3 Q geIFl Q615 gieRa LARULIG 686672
A) 15 B) 16.5 C) 183 D) 30

What will be the amount of compound interest if Rs.800 is lent at simple interest rate of 8% for
two years?

A) Rs.113.12 B) Rs.123.12 ) Rs133.2 D) Rs.143.12

800 GF1 AU H6RG! 8 GF1 JY YIAER FAT 696R R IVACR IE QY 6966 6297
A) Rs.113.12 B) Rs.123.12 C) Rs.133.12 D) Rs.143.12

What price a shopkeeper will mark on an article with cost price of 200to give a discount of
25% and still gain a profit of 35%?

A) Rs.270 B) Rs.300 C) Rs.330 D) Rs.360

64 6QIRI1 KA 200 ORI RAER FLTA QUFI 6RES TF ERYER 25% LIS 6QRUAE
€12 35% MY dIRQ?

A) ©270 B) ©.300 C) ©330 D) © 360
The ratio of age of A & B is 3:4. If B is 4 years elder than A, what is the age of A?
A) 16 B) )2 C) 20 D) 28

A BB Q Qg4 AQAIG 3: 41B,A 0IQ 4 Q¥ Q9 626@, AQ YA 6R6G?

A) 16 B) 1€ £) 20 . D) 28
How many numbers within 100 are divisible by 4 and 3 both?

A) 6 B) 7 ' C) 8 D) 10
100 CIRIER 6REBIT A QG 4 G 3 TIQ TRURY?

A) 6 B) 7 Cye. 3 D) 10

A water tank is filled up by a tap in 8 hours and emptied in 16 hours by another tap. If both the
taps are opened at the same time,how much time will the tank take to fill up? \

A) 8hours B) 16 hours C) 128 hours D) 2 hours

@ QAT 691G AIFEIE 8 A9I6a 94 94 98° R 99 ARFIel gd AGSIRT 16 A%I6Q
iR 62IRAN | 98¢ Q@ AFA06Q QA IR AR EUIR QUQAN, 6969 AGCIGT €R6C
A6 FRJIELIRQ ?

A) 8 W4l B) 16 Q4 C) 128wl D) 24e<l

The addition of two numbers is 384 and their H.C.F is 48. What is the ratio between the two
numbers? '

APg 5 B) 4:5 Gy 253 D) 1:3
‘Q@@ QA°SMIQ CLCTR NI Y B 6AANRE GG ¥ 6L6m, L°Gl U AFUIG 6@6Q ?
A) 3:5 B) 4:5 €y 2%3 D) 1:3

After the sale price of electric fan was reduced by 20%, its sale increased by 40%. What was its
effect on the total sale value?

A) 12% decreased C) 30% increased

B) 12% increased D) 40% decreased

GgR aena Q7RI AUER 20% KR EQRITCA GI” @ TG A3l 40% QAR | 6369 6A1IT
Qq 622l Ol QUER @'Sl WIS dmI?

A) 12% QeI C) 30% QUM

B) 12% Q@R _ D) 40% Q¥R
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76. A book was sold at a profit of 12%. There would have been 18% profit if the sale price was 18
paisa higher. What is the cost of the book?

A) Rs.5.00 B) Rs.2.00 C) Rs.4.00 D) Rs.3.00

6QIGN QF 12% MINEQ TF QATR | AGIRY AR 18 AR WYX 6ARYEN 18% NIV
62IR2IS! | 9ECQ QARY 696S?

A) ©.5.00 B) ©.2.00 C) 9.4.00 D) @.3.00

77. The ratio of milk and water in a mixture is 3:2. If 4 litres of water is added, the quantity of milk
and water becomes equal. What is the quantity of water?

A) 8 liters B) 10 liters C) 12 liters D) 16 liters

9@ fga6a 210 8 8RQ QU 3:2 1 9E 4 ACQ 6 TSN NS NG R G
QAR Y, 6662 FRQ AQLNE 6QE6S 62Q°?

A) 8@RTQ B) 10@%Q )12 g D) 16 QA

78. 5 should be added to which of the following small numbers to make the addition divisible by
24,32, 36 & 647

A) 1147 B) 1176 C) 1215 D) 1318
Q6419 692 Orl AHIER 5 CATRER CABTR 24, 32, 36 8 64 QU IAUN 627
A) 1147 B) 1176 C) '1215 D) 1318

79. Two taps ‘A’and B’ can fill a cistern in 28 minutes and 42 minutes respectively: A third tap 'C’
can empty it in 42 minutes. If all the three taps are opened, what time will the cistern take to fill
up?

A) 12 minutes B) 28 minutes C) 16.8 minutes D) 42 minutes

Q@(G‘ ISR A 99° B 6915 | @8 Q2Igee 28 AGe eq 42 a56a qﬂ RAUIQE | o1
AIGRR 42 ﬂQG‘GQ QLI ¢ QISR | T AAY ARG 9@ AALER 68lim QaUIAN,
6069 QG q_@ 6LQUIQ 6960 AAY MITIS?

A) 12 minutes B) 28 minutes C) 16.8 minutes D) 42 minutes
80. Whatis the cuberootof %z’?
.
NG B) or= . D) =
22 aahqe 6966 2
Ay 2 By A2 O = D)\ &
81. If8% of ‘A’ is equal to 4% of ‘B’, what percentage of ‘B’ will be equal to 20% of ‘A’?
A) 10% B) 15% ) 20% : D) 25%
UG 'A' Q 8% 'B' @ 4% QL QAR £, 6669 "A' @ 20% 'B' @ 490931 6960 AL AR 6297
A) 10% B) 1% C) 20% D) 25%
82. If the simple interest of some principal becomes its 2/5 in 5 years, what is the rate of interest per
annum?
A) 10% B) 8% C) 6% D) 4%
A3 6lad 9@ @A dawgal 5 Qg C6Q R 2/5 €9, 6069 QI8 PRIA LR 6RCC 7

A) 10% B) 8% C) 6% D) 4%
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If Rs.782 is distributed among P, Q & R at a ratio of 1/2:2/3:3/4, what is the share of R?

A) Rs.153 ‘B) Rs.305 C) Rs.453 D) Rs.306

9782 @ P, Q GR «c1IeQ 1/2: 2/3: 3/4 69 QI§ QUIKIN, 6962 R Q QUFER 666 OF L2
A) 9153 B) ©305 C) ©453 D) %306

What is the sum of the positional and the actual values of 8 in 438362

A) 88 B) 808 C) 880 D) 888

43836 6Q 8 Q HIR1C AR G YO FJMIQ ELICITR 6REG?

A) 88 B) 808 C) 880 D) 888

If cach side of a square is increased by 25%, its area will increase by:

A 25% B) 50% C) 40.5% D) 56.25%

QG 6QITN QY 699Q JOIR QUG FORGI 25 QRIAN,  606R LR CRGTR FORG
6Q60 Q8 AIRQ ?

A) 25% B) 50% ) 40.5% D) 56.25%
| cubic meter = cubic centimetre?

A) 1000 B) 10000 C) 100000 D) 1000000
1 QR4 = _ QQ6Q8?

A) 1000 B) 10000 C) 100000 D) 1000000

At what percentage of simple interest, Rs.4800 will grow into an amount of Rs.6480 in 7 years?

A) 5% B) 6% C) 3% D) 4%
F0QQI 6Q63 AQR QAIER 4,800 S 7 AFER 6,480 CRIQ §F 692
A) 5% B) 6% C) 3% D) 4%

What shall be the amount of compound interest. if Rs.10000 is invested at the interest rate of
5% for 2 years?

A) Rs, 1000 B) Rs.1025 €) Rs.1050 D) Rs.1075
GORe! 5 OF1 QI QIAEA 10000 GF1 SF6LAT R6M, 2 QU6 FGIE JI 6963 6297
A) Rs.1000 B) Rs.1025 C) Rs.1050 D) Rs.1075

The marked price of one article is 25% more than its purchase price and a business man makes
a profit of Rs.125/- after allowing 15% rebate. What is its purchase price?

A) Rs. 2000 B) Rs.2200 C) Rs.1500 D) None of these
D QIR RYES FRY ILIQ FAFRIOIQ 25% SR IQ° 15% QLG 6aQ 966 UQQIAT 125
ol MK REM | LA YA 6X697

A) Rs. 2000 B) Rs.2200 C) Rs.1500 D) 6164 962

Distribute Rs.355 among Ram, Shyam & Hari in such manner that Ram gets Rs.20 more than
Shyam and Hari Rs.15 more than Ram. How many rupees will Hari get?

A) Rs.100 B) Rs.120 O IRS.135 D) Rs.150
355 Q@I QUE, SUIF1 B A F12I6Q YAG NER G FUKR, 6AAR & QUIF, FYIF LAY 20
@l 2D B 2Q QUL AR5 ST 2RIF TIAR | 606R 20 6Q6C Ol AIRR?

A) Rs.100 B) Rs.120 C) Rs.135 D) Rs.150

(ol
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Find out the next number in the sequence: 1, 4, 9, 16, 25, ...... ?
A) 35 B) 36 C) 48 D) 49
1490625 . ... 7 & 2UGFFER TQLEQ LT Gl @ |
A) 35 B) 36 C) 48 D) 49

What is the cube of—1 g?

7 17 17 7

Less iy vy ENEL it

] . 27 i ET © : 27 b 27
-1 QARTR 6968 ?

7 ' 17 17 T
A) —1 = B) -2 - C) —4 = D) 4 =
In an examination 40% students failed in- Mathematies, 30% in English.and 10% in both, what
percentage of students passed in both the subjects?
A) 30% B) 40% ' C) 50% D) 70%

6QlIGN TRQIRVIER 40% RIS FEFER 30% FIT A°AURT IG° 10% QAAERA 6TM 6XER,FICRG
Q60 BIQ AVA FTAEQ UL REM?

A) 30% B) 40% C) 50% _ D) 70%

If the principal amount trebles in 6 years, in How many years will it increase by 4 times?\
A) 8 years B) 9 years C) 10 years D) 12 years
6163 RUR 6 AT6R GYTE 626M, 6766 QHEA QIR CIAGE 629 ?

A) 899 B) 9Qd ¢) 1099 D) 1299

The ratio of two numbers is 3:4. If 6 is added to each, their ratio becomes 4:5. What is the
difference between the two numbers?

A) 1 B) 3 C) 4 D) 6

9RG QIR QIS 34 | 9T YRR A°SHISR 6 641 FQUAIN, 6QFIRT AQAIS 45 I
QG FAQ QEAC T 6R6C 6297

A) 1 By 3 c 4 D) 6

'A shopkeeper gives one pencil free on purchase of 24 pencils. Then what is the percentage of
‘rebate given?

A) 5% B) 4% C) 10% D) None of these

G641 6QIRINT 24 T 6URTN FEER, 60T 6URIR AUTEIER T | 606Q JORG QALIQ
Q607

A) 5% B) 4% C) 10% D) 6QQCR Q6%
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The average of 6 numbers was 30 when one number was written wrongly as 17 instead of 71.
What will be the actual average if the number is written correctly?

A) 2] By. 33 £, 36 D) 39

PNPE 6N A°HUIQ 71 QARER 17 6RH AIQLRI 6R6R 6 & A°HIQ AALIA 30 62@2lI
692 A°HIITG OR RS 6RYER, AT 9P LAULIR 6966 6297

A)- 21 B33 1 36 D) 39

If the volume of a cube is 512 cubic meter, what is the perimeter of its surface?

A) 36m B) 64m C) 32m D) 28m
N@ AAURQ AINSR 512 AR AR 626M IR AR A 6R63 2

A) 36 8eQ B) 646ig = . ) 328ea D) 28 deQ

If the height of a cone is doubled, its volume will increase by—

A) 100% B) 200% C) 300% D) 400%
9@ 63T 6RITQ AFF! IRYE VIR, 656@ LR KGR 6R6GYS QRAIRS?
A) 100% B) 200% C)300% D) 400%

By which of the following numbers shall 77,147 & 252 be divided to leave the same remainder
in each case?

A) 9 B) 15 C) 25 D) 35
Q6B 6RQAHI IR 77, 147, 8252 G QIGIRER QIS Y604 AR6Q AR QG2

A) 9 B) 15 C) 25 D) 35
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